
 
 
 
 
 
 

                                                            MARKING SCHEME 
 

Qn.  

No 

ANSWERS Marks  

 

1 d) Infinite rational numbers 1 

2 d) 2.151551555… 1 

3 b) 6 1 

4 𝑎) 𝑥3 + 𝑦3 + 3𝑥2𝑦 + 3𝑥𝑦2 

a) 𝑥 = 2 

 

1 

5 𝑎) 𝑥 = 2 1 

6 Let x=1.272727… 

100x= 127.2727.. 

100x= 126+1.2727… 

       =126+x 

99x= 126 

x = 126/99 

   = 14/11 

2 

7 𝑝(0) = 03 + 02 + 0 + 1 

      = 1 
𝑝(1) = 13 + 12 + 1 + 1 

      = 4 

2 

8 Using the identity, 

 (𝑥 + 𝑦 + 𝑧)2 = 𝑥2 + 𝑦2 + 𝑧2 + 2𝑥𝑦 + 2𝑦𝑧 + 2𝑥𝑧 

(3𝑥 − 𝑦 + 2𝑧) 2 =(3𝑥)2 + (−𝑦)2 + (2𝑧)2 + 2(3𝑥)(−𝑦) +

2(−𝑦)(2𝑧) + 2(3𝑥)(2𝑧) 

 = 9𝑥2 + 𝑦2 + 4𝑧2 − 6𝑥𝑦 − 4𝑦𝑧 + 12𝑥𝑧 

2 
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9 2+√3

2−√3
 = 

2+√3

2−√3
 × 

2+√3

2+√3
 

       = 
(2+√3)+(2+√3)

(2−√3)(2+√3)
 

       =
(2+√3)2

22−√3
2  

       =
4+4√3+3

4−3
 

       =7 + 4√3 

∴ 𝑎 = 7 𝑎𝑛𝑑 𝑏 = 4 

3 

10 Let 𝑝(𝑥) = 𝑥3 + 3𝑥2 + 5𝑥 + 6 

𝑝(−2) = (−2)3 + 3(−2)2 + 5(−2) + 6 

        = −8 + 12 − 10 + 6 

           = 0 

So, 𝑥 +  2 is a factor of 𝑥3 + 3𝑥2 + 5𝑥 + 6 

Let 𝑞(𝑥) = 2𝑥 +  4 

𝑞(−2) = 2(−2) +  4 

       = −4 + 4 

       = 0 

So, 𝑥 +  2 is a factor of 2𝑥 +  4 

3 

11 25𝑎2 − 35𝑎 + 12 = 25𝑎2 −20a-15a+12 
= 5𝑎(5𝑎 − 4) − 3(5𝑎 − 4) 
= (5𝑎 − 4)(5𝑎 − 3) 
The length and breadth of the rectangle are 5a-3 and 5a-4. 

3 

 THE END  

 
 


